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For a given basiz ina theee-dimensional space

&= ~12], g, =001 & = -L-31)

) Find the conedinate of the veclor £=[13,6] in (ks busis,

(it} Letue inroduce o set of recipmocd] bass vectors g, 2°. 2" 5o that
g-2' =1, 1=12% g .r£'=0, f=/ Find the reciprocal base vectors
Yo

(111} Fioed 1he coordinate of the veelor A =03,3,8] in the weciprocal basis,

2{208 _

(i} Describe in dodzil the divergenes theotem and Green®s theonsm,

i) Corpute the Ting integral JF-;:‘.E, wleve F=deyi —Bpj+2k and © i3 along e
i

etlipee x¥ 4437 = 4, 2 =0 counterclockowise from (O, — L0} ta {0, 1, 0).

J.200%5) Solve the sel of dillerential equations
E% —-dxawnde

4020560 Evihaite the adepral using Uiz theary of residues

2x' -1
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J010%) Congidee the partial diffetential equeation

%4.;‘_;,_;:  20x, 01 = 272 +&",

(i} Let um %,v = :%ﬁ and decive the equation i feoms of the variables w,w,

(ei) Zophve 116k dilferential cquation aned wrike e solusions in letins of x,p.

6.(10%] Find the Fooriet gericg of s fonction of period Zp, f1x] =[x, |5 < &,
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